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D.O.
Time Aliowed : 2 Houfs] [Maximum Marks : 100
1. Who is the author of ‘Kooloo, Lahoul and Spiti’ ?
(A) Willium Moorcraft (B) Alexander Cunningham
(C) Captain Harcourt (P) Aurel Stein
2. In which District of H.P. is Sun Temple Nirath ?
(A) Kullu (B) Shimla
(C) Chamba (D) Sirmaur
3. In which village of Kullu District is Parashuram Kothi ?
(A) Dhaba (B) Jagatsukh
(C) Nirmand (D) Dashal

4, Around which year did Jahangir capture the Kangra fort ?

(A) 1556 A.D. ) ‘ (B) 1620 A.D.
(C) 1783 A.D. (D) 1786 A.D.
5. What was the clan name of rajas of Nurpur princely state ?
(A) Dhatwalia (B) Guleria
(C) Mankotia (D) Pathania
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D.O.
g : 2 ¥R

1. ‘o], e wus wifa’ & ded dH € 2
(A) faferas g (B) TiaSUst HfeH
(C) &ed s (D) & =H

2. qémwﬁmwmaf;mraaﬁ%?
(A) e (B) femwen
(C) == (D) fawiR

'3, WM Hlal Hoo] oot & frw vl #§ § 2
(A) @ | (B) wTgE
(C) fivs (D) TS

4. werR ¥ feg oad & sy e B W sifuer w fomn 2
(A) 1556 THat B) 1620 et
©) 1783 Sk (D) 1786 Swat

5. TR famm & uneli & avs AW ;o ?

(A) eearfea (B) T@f@n
(C) Hahifea (D) vaifa
D.O—A 3
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6. Which Viceroy died at Chauntra in Mandi princely state in 1863 ?
(A) Lord Elgin-I | (B) Lord Mayo
(C) Lord Lawrence (D) Lord Ripon

e Which raja made Nalagarh the capital of Hindu.r princely state ?
(A) Ram Chander (B) Vikram Chand
(C) Vijay Chand (D) Alam Chand

8. Of which princely state’s off-shoots were Balsan and Ritesh Thakurais ?

(A) Bushahar (B) Bilaspur
(C) Sirmaur (D) Suket
9. Which leader of Ghadr movement was sentenced to death in Lahore

conspiracy case which was later converted into life ifnprisonment ?
(A) Mathra Dass (B) Hardev
(C) Hridaya Ram (D) Mian Jawahar Singh
10. With which region of H.P. is Barari dialect associated ?
(A) Chamba—Nurpur (B) Una—Hindur

(C) dJubbal—Rohru (D) Kumarsain—Kotgarh

D.O—A 4



6. fru s =t 1863 Imat # wvet fama & diaer 4 gg & T ?
(4) WS TA-I (B) < #d
(C) «rd &R (D) wre fow
7. fwa w3 v @ v fama St asue s ?
(A) ™ =% ' (B) foww v
(C) fawm == (D) 3eM =<
8. @ 3in fowm owued frw fama # wwendt o 2
(A) TR | (B) feremag
(C) far (D) Gehd

9. TRX FRIeH & fFE Fa AR ugAs 39 # g Tue &t 991 &f T SR Sr
¥ 39 &g ¥ swa fean mn ?

(A) TERH (B) w&d

(C) =™ (D) i vEwR foe
10. s &t feome Ry & fF9 49 § gafaa 7 2

(A) TEI—TR (B) s —favey

(C) I=c—eg (D) FHHARET—HITTE

D.0O.—A 5 PT.0,
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12,

13.

14.

15.

With which region of H.P. are Gangi and Mohna folk songs associated ?
(A) Chamba (B) Bilaspur

(C) Kullu (D) Sirmaur

To which God/Go&dess is Nawala festival dedicated ?

(A) Vishnu | (B) Shiva

(C) Brahma (D) Durga

On which day of Vikram Samvat does the Minjar fair of Chamba start ?
(A) First Monday of Sawan (B) Second Sunday of Bhadon

(C) Second Sunday of Sawan (D) First Monday of Bhadon

What is Rattanjot ?

(A) a mountain pass

(B) a herbal medicine

(C) a precious metal

(D) a grain to weigh gold and silver etc.

At which place in Bilaspur District of H.P. is HPMC setting up pack house
and cold room for packing and grading of fruit and vegetables with grant

from the Govt. of India ?
(A) Shah Talai (B) Amarpur

(C) Ghumarwin (D) Kuthera

D.O—A 6



11. Tt iR Hewn o g feaee & fFw &9 @ 9@ € 2
(A) =N (B) faemag
(C) =g (D) fawir
12. Taren @er 5 aa/ss #owtfa § 2
(A) fao B) fm
(C) i=m (D) 7
13. w1 F1 AR den fawy daq & gar &9 g7 g& @ ¥ 2
(A) #EY TEH ® e WEER w1 (B) WK WEM ® g faER &
(C) oEm T & W gar #1 (D) YK HEH & TEe §HEr &
14. TS #0 E ?
(A) TH wEdE g1
(B) TF wEige siwfy
(C) TH wHimdl g
(D) W= efs @i diew Jen T S

15. feame Ry & faamR 5o § it 1 wa iR gfesdl sufs =1 S
AR Wfen & fou ¥ =9 3R Fice &9 f5g wwr W wufg 3 & fau 9ra
THR ¥ foxitg gema faet ® 2

(A) YIE qas (B) 3R

(C) YARET (D) |3
D.0O—A 7 P.T.O.



16. In collaboration with which agency has Doodh Ganga Yojana been launched

in Himachal Pradesh ?

(A) State Bank of India (B) NABARD

(C) H.P. State Coo;.)ei'ative Bank (b) UCO Bank
17. In which river basin is Thirot hydro power project ?

(A) Ravi (B) Chenab

(C) Beas (D) Satlyj

18. How many silk yarn reeling units have been set up in private sector

in HP. ?
(A) Seven (B) Eleven
(C) Thirteen (D) Seventeen

19. In which year was H.P. Tourism Development Corporation set up ?
(A) 1972 (B) 1976
(C) 1982 (D) 1987

20. At wl;ich place is herbal garden in Mandi District of H.P. ?
(A) Nerchowk (B) Bhangrotoo

(C) Sundernagar (D) Jogindernagar

D.O.—A 8



16.

1%.

18.

19.

20.

feame wewr # gy M Ao Y TEen & 9edn § WoE o @ ¥ 2
(A) 9RdE VW 5% (B) =TS

(©) . Ve HERfe EED (D) & FF

e o1 fore R R T ® e F R 2

(A) T& (B) fem=

(C) =a™ (D) wagst

feqreer W § feht & § feey W S w1 A gfe ot fRY T ¥ 2
(A) 9@ (B) TRE

©) D) =

fene WRw Tden faww fm w1 T fRE e @ 2

(A) 1972 ¥ (B) 1976 #

(C) 1982 # (D) 1987 #
WW%W%@ﬁﬁaWWmim%?

(A) = (B) WRIZ

(C) =R (D) TR

D.O—A 9 P.T.O.



91. In which state of India is Karwar naval port ?
(A) Goa (B) Tamil Nadu
(C) Kerala (D) Andhra Pradesh

99. With which animal is Pabitora Wildlife Sanctuary of Assam mainly

associated ?

(A) Tiger (B) Lion

(C) Rhino (D) Elephant
23.  Who is the author of The Chinar Leaves ?

(A) Farooq Abdullah (B) Omar Abdullah

(C) Madan Lal Khurana (D) Madan Lal Fotedar
24. When was ‘Make in India’ campaign launched ?

(A) August, 2014 (B) October, 2014

(C) November, 2014 = (D) December, 2014

95. Which Indian wrestler won a Bronze medal at the World Wrestling

Championship held at Las Vegas in September, 2015 ?
(A) Sushil Kumar (B) Narsingh Pancham Yadav

(C) Yogeshwar Dutt (D) Vijender Singh

D.O—A 10



21. SRAR FEFEF I<OME IR F R T A ¥ 2
(A) T (B) dfAemrg
(C) = (D) =Y weW
22.  IW FH UEIGK FEAGCR IRURGS YEH ¥U Y fF9 Uy d o1 ¥ 2
(A) @™ (B) I
(C) T (D) et
" 23. ¥ foR view & d@s wA § 2
(A) TEH IFgeel (B) WL srege
(C) Wed &l GUl (D) Hed &E HIER
24. ‘'w% ¥ 3feA’ Hfew we gw w1 W ?
(A) 3T, 2014 (B) 3R, 2014
(C) &, 2014 | (D) fwwr, 2014

25. faamr, 2015 # oG amw F g fave syt whefa § feg wRdg Teeam 3 i

TS Al ?
(A) Heite HAR (B) TfEg 99w Ig
(C) IR e« (D) fosier fag

D.O—A 11 PTO.



26.

217.

28.

29,

30.

With which of the following is Gajendra Chauhan associated ?
(A) Press Trust of India

(B) Food Corporation of India

(C) Reserve Bank of India

(D) Film and Television Institute of India

According to a recent survey conducted by the Ministry of Urban

Development which is the cleanest state capital in India ?
(A) Jaipur - (B) Bengaluru
(C) Chandigarh (D) Srinagar

Which Judge of the Supreme Court is scheduled to become the Chief Justice
of India after Justice H.L. Dattu ?

(A) Justice J.S. Kehar (B) Justice Chelameswar
(C) dJustice T.S. Thakur (D) Justice Joseph Kurian

Which Indian state claimed itself to be complete Digital State on August 15,
2015 ?

(A) Himachal Pradesh (B) Kerala
(C) Karnataka (D) Telangana

According to Millennium Development Goals Report 2015 what was the

incidence of extreme poverty in India in 2011 ?
(A) 17.4 percent (B) 21.6 percent

(C) 24.7 percent (D) 28.9 percent

D.O—A 12



26.

217.

29.

30.

T den frafafen § § feed watum § 2

(A) 'ﬁvzemgﬁm’

(B) g HURYH 3% zfogn

(C) fsd ¥ sifw sfoean

(D) frew we Afafasq =Eiege e 3T

wed fore T gN A @ wN T wHew @ omER wrd § wsd #
e # S gl @ % ?

(A) AR (B) wIE

(C) =g (D) #FR

Ieaad e H HE-T1 A FEgfd THUE. oY % 9% e e 8a
W T ?

(A) =FEd AT PR (B) =mfd =emrear

(C) =magfd d.ug. It (D) =rHfd Shw =i
.15m,2015ﬁm$mm%mmj{dmﬁ%ﬁm@qﬁa
fem 2

(A) feame ww (B) =&

(C) wiew (D) qeTHT

2015 i faeifae Sqaudve Tiew 9 & oqEr 2011 ¥ 9a ¥ sfafadar &
yfayd & a1 ?

A) 17.4 | (B) 216

(C) 24.7 (D) 28.9

D.O—A 13 P.T.O.



31.

32.

33.

34.

35.

Which mountain range was the epi-centre of earthquake that shook Pak-Afghan

region in October, 2015 ?

(A) Aravalli (B) Zaskar

(C) Shivalik . (D) Hindukush

Capital of which country is Mogadishu ?

(A) Ethiopia (B) Somalia

(C) Oman (D) Uganda

With which sport is term Produnova associated ?

(A) Wrestling (B) Boxing

(C) Gymnastics (D) Swimming

With which one of the following is Mark Zuckerberg associated ?
(A) Twitter (B) Flipkart

(C) Facebook | (D) Amazon

Who is the President of Nepal ?

(A) Onsari Gharti Magar (B) Babﬁram Bhattarai

(C) Prachand Gyanendra (D) Bidya Devi Bhandari

D.O—A 14



31. W,2015ﬁw-mmmﬁmwmmmmémﬁm?
(A) 3= (B) &R
(C) foranfas (D) feg=w

32. Hrmfey fog 2w =+ g9uE § 2
(A) st (B) dmrferan
(C) 3mH (D)éfria

- 33, WigTa v fRE Be @ s & 2

| (A) =t (B) HFharsit
(C) Foernfesg (D) T

34. W gwer Frefafes § @ e @ ¥ 2
(A) femex (B) fircrusrd
(C) wug® (D) S

85. FUE & (H) Uufd FH F 2
(A) 3=t =R AR (B) oM wgTrE
(C) ¥=vE W= (D) foen It serd

D.O—A 15 P.T.O.



36.

37.

38.

39.

40.

Which political party has been voted to power in the recent parliamentary

elections in Canada ?

(A) Conservative Party (B) New Democratic Party
(C) Liberal Party . (D) Republican Party
Quartlet of which country has won the 2015 Nobel Peace Prize ?
(A) Sudan (B) Tunisia

(C) Tanzania | (D) Libya

Who is Alexander Lukashenko ?

(A) President of Belarus (B) Prime Minister of Greece
(C) Prime Minister of Ukrain (D) President of Kazakhstan

The birth anniversary of which Sikh Guru was observed as International

Langar Week during October, 2015 ?

(A) Guru Nanak Dev (B) Guru Ram Dass
(C) Guru Hargobind (D) Guru Gobind Singh
Which day is observed as World Post Day ?

(A) July 09 (B) August 09

(C) September 09 (D) October 09

D.O—A 16



36.

37.

38.

39.

40.

Fel A 7l € § gU WO g9 A @ ueife oo o 8 e & 2
(A) wafes o (B) = 2@few e

(C) foate urt (D) frafser it

fF8 QW % wg=F 3 2015 F v Wi [WERR Star & 2

(A) g=H (B) =gHifern

(C) aufn (D) tfarn

TR THNTR BH § 2

(A) daed & el (B) FAH & YUM H=t

(C) T F JUA wHA (D) weTErE™ & wsgafa

FHR, 2015 | 59 fom ® & THfcaw 91 W oW gwr @ w9 F g

™7
(A) T& 9% 24 (B) & THSH
(C) 7% BUifa=< (D) T Tifs=< fog

fq fe7 =i fova =% e & =0 & w9 w1 & 2
(A) I 09 (B) 3 & 09

(C) foam=x 09 (D) 3RS’ 09

D.0O.—A 17 P.T.0.



41.

42.

43.

By which amendment were Fundamental Duties added in the Indian

Constitution ?
(A) Seventh (B) Thirty Third
(C) Fortieth (D) Forty Second

From which country’s constitution has the idea of Directive Principles of

State Policy been borrowed by the framers of Indian Constitution ?
(A) Ireland (B) Canada
(C) Australia (D) Japan

What is the total number of members of Public Accounts Committee of the

Indian Parliament ?
(A) 15 (B) 18
(C) 22 D) 27

The seat of High Court of which state is at a place different from the state

capital ?
(A) Chhattisgarh (B) Uttrakhand
(C) Madhya Pradesh (D) All of these

D.O—A 18



41.

42.

43.

44.

Yaa dfaum & fee d@eiye gr difas wde Wi ™ 2
(A) wrad (B) g
(C) =reiad (D) sAEHa

R wfaue & femet 3 ffa <o & d@faum @ 1= Hfifa & feves fag 3ga

o € 2
(A) VS (B) wHATST
(C) em=faan (D) U

TRATT T9E it @ o gfifa § wo feey e e ¥ 2

(A) 15 - (B) 18

(C) 22 (D) 27

e T 3 39 e & W 3W T H AOYH ¥ I WH W T ?
(A) BUETE (B) IW@TS

(C) Heg wew (D) F §st

D.O—A 19 P.T.O.



45.

46.

47.

48.

Which term is used for the advance payment allowed to the Government to

carry on its work till the passing of the Appropriation Bill ?
(A) Vote on account (B) Vote on credit
(C) Vote on advance (D) Vote on ad-hoc payment

Which one of the following has been replaced by the Niti Ayog ?

(A) National Development Council

(B) Finance Commission
(C) Administrative Reforms Commission
(D) Planning Commission

Which Prime Minister of India never faced the Lok Sabha to prove his

majority ?
(A) H.D. Deve Gowda (B) Chandra Shekhar
(C) Charan Singh (D) Atal Bihari Vajpayee

What is the minimum number of members that a political party must have

in the Lok Sabha in order to be recognised as opposition party ?
(A) 44 (B) 45

(C) 54 (D) 55

D.O—A 20



45.

*46.

47.

48.

fafram fadas & 99 87 ¥ Tea TR 1 FEES 9o @ fau S efm serE
wWied H I & 3/ F Fed § 2

(A) @R [ TEHE (B) 9 3 #fee

(C) @R 7 vsa™ (D) @R 3 T=-TeH THve
e s 3 frafafen § ¥ fegw @ foam ¥ 2

(A) T fawm uftug | (B) fau smam
(C)mﬁmg&na@n (D) A AT

Id & &8 9um #=it 3 oo agna fag w0 & o ot e |w = g

& faEa 2
(A) TE.E. Qe (B) == V&R
(C) =ur fag D) 3ea faert aeuE

o w91 A faleht 5w & w9 § w=a um @ fon R oenidifee e @ -39y

fram e an afqed § 2

(A) 44 - (B) 45

(C) 54 (D) 55

D.O.—A 21 P.T.Q.



49.

50.

51.

52.

When did Right to Information (RTI) become an Act ?
(A) 1999 (B) 2002
(C) 2004 (D) 2005

Which Commission suggested that the Governor of a state should be
appointed by a committee consisting of the Prime Minister, Home Minister,

Speaker of Lok Sabha and Chief Minister of the concerned state ?
(A) Sarkaria Commission

(B) Punchhi Commission

(C) M.N. Venkatchalia Commission

(D) National Judicial Commission

Which President of India held office for the longest period ?

(A) Dr. S.D. Sharma (B) Dr. A.P.J. Abdul Kalam
(C) Dr. Radhakrishnan . D) Dr. Rajendlla Prasad

Which Prime Minister appointed the Commission headed by B.P. Mandal which

recommended reservation in Jobs for the OBCs ?
(A) Charan Singh (B) V.P. Singh

(C) Morarji Desai (D) Rajiv Gandhi

D.O—A 22



49.

50.

51.

52.

g & AfER (FRANE.) Fa TR T ?
(A) 1999 # (B) 2002 #|
(C) 2004 # (D) 2005 H

g @M 3 78 gge oo o1 f& & ™= & e S fgfa w9 )

F WA ey ool gum 9=, TR A, @ 9 e R 39 U9 & g

o=t e & 2
(A) I 3 (B) TS ImEm
(C) TH.UA. dshegctal STEm (D) A fefma smam

YA 1 FH-91 LG 3 9§ W gaq A4F 999 @ 7
(A) @ wedl (B) T TS IgA FAM
(C) I TuHH (D) . T&<5 T6E

forg oM w3 St Aved &1 st A 39 s &t fgfw @ e e

free ot =i d=fdl 4 smeaw # fawfe w5 2
(A) = g (B) @t.# fus

(C) TrRe 3 (D) weha Tt

D.O—A 23 P.T.O.



53.

54.

55.

56.

With which political party is centre of Indian Trade Unions (CITU)

associated ?
(A) BSP . (B) BJD
(C) JDU ' (D) CPM

Which constitutional amendment provided for reservation of seats for women

in the Panchayati Raj Institutions ?

(A) 63rd (B) 73rd

() 83rd (D) 93rd

In which general election did the BJP emerge in the Lok Sabha as the

largest single party for the first time ?

(A) 1996 (B) 1998

(C) 1999 (D) 2014

Pradhan Mantri Jan-Dhan Yojana was launched on :

(A) 28th August, 2014 (B) 28th January, 2014

(C) 28th March, 2014 (D) 1st April, 2014

D.O—A 24



53. dR AE 3vead T gfmE () feu oeifas 5w A o1 ¥ 2
(A) =t.TE.d. (B) 3=
(C) =27, (D) Hh.d.um.

54. UaEmEd Us weensd # wfgensi & fau @ &1 smaw few w@ufte weER W

forar mr ?
(A) 634 (B) 733
(C) 833 (D) 934

55. &g 39 g9 # &L9.@. Ueel 9 ok 9 H T9d 58 qa % w9 H SHd ?
(A) 1996 # (B) 1998 #
(C) 1999 # (D) 2014 F

56. UUM Tl SH-¥F ANl FE (E B TS 2
(A) 28 3T, 2014 (B) 28 i, 2014

(C) 28 @4, 2014 (D) 01 31¥«, 2014

DO—A | 925 PT.O.



57. As per Census 2011 the percentage of literacy of population is :

(A) 73 percent (B) 83 percent

(C) 72 percent (D) 80 percent

58. Which of the following is not a direct tax ?

(A) Income Tax (B) Wealth Tax

(C) Sales Tax | (D) Corporate Profit Tax
59. Which state produces maximum pulses in India ?

(A) Maharashtra (B) Madhya Pradesh

(C) Bihar | (D) Haryana

60. Competition Commission of India (CCI) was established on :
(A) 14th October, 1993 (B) 14th October, 2003

(C) 1st April, 2003 (D) 1st April, 2013

D.O—A | 26



57. 2011 @1 SFVAI & SIHER SHEET 1 FaRal yfaed ¥ o
(A) 73 wiaed (B) 83 Wy
(©) 72 wfawma (D) 80 wfer
58. fm= & 4 Fra vy HT A T 2
(A) 3F & (B) uftgmfa (Wealth) &
(C) feml & D) fm @y ;=
59. YRd # &AW U AfYFaH TAeT H IERT B § 2
(A) HeRT= (B) ¥eA WRW
(C) fer (D) efEmn
60. 'wammnafmsﬁm(ccnaﬁwwmaﬁné ?
(A) 14 3EER, 1993 (B) 14 3@aR, 2003
(C) 1 =, 2003 (D) 1 378, 2013
D.0—A 27

P.T.O.



61.

62.

63.

65.

‘Eco Mark’ is given to the Indian products which are :

(A) Economically Viable ' (B) Environment Friendly
(C) Market Friendly (D) None of these
National Food for Work Programme was launched in :

(A) 1999 (B) 1994

(C) 2004 (D) 2014

Who is RBI Governor presently ?

(A) Y.B. Reddy (B) Rakesh Mohan
(C) D. Subbarao (D) Raghuram Rajan
ASEAN is :

(A) Agreement of South-east Asian Nations

(B) Association of South-east Asian Nations

(C) Accord of South-east Asian Nations

(D) Association of Some European Asian Nations
Octroi is levied and collected by :
(A) Local bodies (B) State Government

(C) Centre Government (D) All of these

D.O—A 28



61. ‘I TR I YRAE I@EI H WM fwEa W@ ¥ S o
(A) 3nfds w=a (Sfiae™) (Economically Viable) B @
(B) TAlEX" Weell (Environment Friendly) 24 &
(C) SR Weelt (Market Friendly) 2@ %
(D) 3w § | FE T8
62. WS ‘FM & =g 3™’ (Food for work) FriwA fha o4 # y& fwan mn ?

(A) 1999 (B) 1994

(C) 2004 | (D) 2014
63. T H fod &% & TR FH ¥ ?

(A) = EE (B) T&9 Higd

©) & g=rE (D) THTH TSH

64. ASEAN &1 319 ¥ :
(A) Witz 3k wRY-3= R FrY
(B) TOfgdvE A% 9ey-3 UiEE A
(C) oTHiE A WRY-3R TRET A9
(D) TwEIfgdye sifw |98 JAfaa ofms Jv
65. dM X (Octroi) fFEs T omrn wd & fan smar & 2
(A) v Fr (B) T WHR

(C) &= THKR (D) F it

D04 29 P.T.O.



66. Who appoints the Finance Commission ?
(A) President of India (B) Prime Minister of India
(C) Finance Minister of India (D) Reserve Bank of India
67. Which of the following taxes is not shared by states ?
(A) Central Excise Duty (B) Income Tax
(C) Corporation Tax (D) Sales Tax
68. Inflation is measured in India on the basis of :
(A) Consumer Price Index (B) Retail Price Index
(C) Whole Price Index (D) All of these

69. Which sector constitutes the maximum share in National Income in

India ?

(A) Tertiary
(B) Secondary
(C) Primary

(D) All of the above have equal share

D.O—A 30



66.

fav @M &1 T I F@ & 2

(A) ¥Rd & Wegfd (B) WRd & WM Tt
(C) wa & fow = D) fod ¥ sitw g
67. = 4 9 9w = T & WY TG @ g 7
(A) FFA UL I (B) 3@ &
(C) frm =+ (D) fowt M=
68. 9N # WEEHIMG fF9 YR W ot St § 2
(A) SUHERN Y EHE (B) ERU qeu YoHih
(C) @ (Whole) Ied el (D) 3 |sit & g
69. YRG HI UKF 3@ # Afywaq 9rer fFa &9 %=1 & 2
(A) Td@ (Tertiary)
(B) fgda (Secondary)
(C) ¥9™ (Primary)
(D)mﬁmuﬁww@ﬁmm%'
D.0—A 31
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70. Bharat Nirman Yojana aims to develop :
(A) Rural Infrastructure
(B) Urban Infrastructure
(C) Both Rural and Urban Infrastructure
(D) None of the above
71. Find the value of X if :
X = 515.15 — 15,51 — 1.51 - 5.11 - 1.11
(A) 49191 (B) 419.19
(C) 499.19 (D) 411.19
- 72. Find the value of Y if :
Y = 2296/56*704/16
(A) 1800 (B) 1804
(C) 1814 (D) 1822
73. Find the value of Z, if :
4*4+3*3 = Square root of Z
(A) 5 (B) 25

(C) 125 (D) 425
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70.

T

72.

73.

‘sra Frefor demr’ @ A feae fowm w5 § 2
(A) T Tt ST

(B) wiedl amenfish wL

(C) =i oo T vl st we

(D) zwF ¥ ¥ wE T

X & "A ¥ &ifeE, gfe .

X = 515.15 — 15.51 — 1.51 — 5.11 - 1.11
(A) 49191 (B) 419.19
(C) 499.19 (D) 411.19
Y & HH @ s, 4
Y = 2296/56+704/16
(A) 1800 (B) 1804
(C) 1814 (D) 1822

Z &1 99 96 ®ifed 4

4%4+43*3 = [7
(A) 5 (B) 25
(C) 125 (D) 425
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74. The average of two numbers A and B is 20, average of B and C is 19 and

that of C and A is 21. Find the value of A.
(A) 24 (B) 22
(C) 20 (D) 18

75. The present age of son is one-third of his father’s age. After 12 years, his

age will be one half his father’s age. Find the present age of son.
(A) 10 years (B) 11 years
(C) 12 years (D) 13 years

76. A fruit seller bought six bananas for ¥ 15 and sold four of them at

T 12. Find the profit or loss percentage.

(A) 25% (B) 20%

(C) 10% (D) 15%
77. Convert %% into decimal :

(A) 0.0005 (B) 0.005

(C) 0.05 (D) 0.5
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74.

75.

76.

Tl

3 gEemel &1 (A 991 B) & 39d 20.%, B a9 C &1 3@ 19 R C 3R A

WWZI%IA@WW.%?

(A) 24 (B) 22

(C 20 (D) 18

TH AgH H 949 Y IS fua F 3Y w TH-faeE 71 12 99 9 wEh HI

Ay o fa@m &1 g #T oMelt A WGH | ASH HI TAHA G FG St
(A) 10 =d (B) 11 ¥
(C) 12 9d (D) 13 96

TH FAfTRAT AT R 6 @IE T 12F 4 1 R ¥ 99 Ku)| 39F1 &1¥

I 7 # wfav §@ i |

(A) 25% (B) 20%
©) 10% D) 15%
%% 1 wWead fu= # 99 3 Fifg

(A) 0.0005 (B) 0.005

(C) 0.05 (D) 0.5
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78. Two cyclists travel same distance at the rate of 15 km/hr and 16 km/hr
respectively. One takes 16 minutes more than other to travel this distance.

Find the distance.
(A) 54 km (B) 60 km
(»C) 58 km (D) 64 km
Direction (Question Nos. 79 tq 81) :
Read the following data and use it for answering the questions that follow :

Four people A, B, C and D have together got ¥ 100 with them. A and B
have got as much money as C and D have together. A has got more money

than B. C has half the money what D has. Also A has ¥ 5 more than D.
79. Who has got the maximum amount of money amongst the four ?

(A A (B) B

(C) C D) D
80. How much does B have ?

(A) T 11.60 : (B) ¥ 13.50

(C) % 32.30 D) % 10.30
D.O—A | 36



78.

QA wfFd War auer g wAv: 15 fF gfa gver qon 16 &t wfa sver =t 9=
YT FWE TG T FAH TE GIR TR AR F 16 e e o
T 7% @ fadt ®, 7% 9@ ®ifw

(A) 54 fedt (B) 60 fedt

(C) 58 st (D) 64 foHt

e (wgw |, 79 ¥ 81) :

79.

80.

= dfgadl & 92 iR warEl #1 e 21 & fau e wEm sifee

IR @AM A, B, C3¥RD S I8 7100 ¥1 A FRB S 19 C 3R D & R T
S WIGAF T BIME TR FTIDF 19 C A A v &1 A S "W
Dﬂtsm%u

T/ # fres Tw e = Y § 2

A) A | | (B) B
(C) C (D) D
B & W feam ¥ ¥ ?

(A) T 11.60 (B) ¥ 13.50

© 73230 D) 7 10.30

D.O—A 37 P.T.0.



81.

82.

83.

84.

85.

Who has got second biggest sum ?
(A) A (B) B
(C) C (D) D

In certain code HORSE is written as XVLCO. Using the same method what

will be the code for ROSE ?
(A) LVCO (B) VLCO
(C) CVLO (D) LCOV
Pick up the word that does not fit in with the others :
(A) Peso (B) Dinar
(C) Europe ' (D) Euro
Which of the following does not belong to group ?
(A) Gold (B) Silver
(C) Brass (D) Lead
Complete the series :

2,4, 8,14, 22, 82;. ivinens
(A) 42 (B) 52

(C) 44 (D) 54

D.O—A : 38



81. <& wed =g ufw (fn) fees W ¥ ?
(A A (B) B
(C) C (D) D

82. HORSE #! T& §ad fafy (Fg) #§ XVLCO % &9 # foen &, @ ROSE &1 39

fafy 4 &4 fa@n ?
(A) LVCO (B) VLCO
(C) CVLO D) LCOV

83. T ¥ fim v # FAfwd =S

(A) fuF (Peso) (B) &R
(C) 7 - D 7
84, fr= wqe § wr@ v WYE ¥ I ¥ 7
(A) '\‘ﬂ‘ﬂ (Mee) (B) =idl (faeer)
(C) diaa (3r) (D) @ (Lead)

85. H@en @ YU HIWY :
2,4, 8. 14, 22. 32; v
(A) 42 : (B) 52

(C) 44 (D) 54

D.O—A 39 P.T.O.



86.

87.

88.

89.

Vijay starts from his office and walk 4 km towards north. Then he turns
right and walks 2 km, then turns right and walks 6 km, then again turns
right and walks 2 km and then turns right and walks 2 km. How far is he

now from the starting point ?

(A) 0 km (B) 6 km

(C) 12 km (D) 16 km

We had fish and chips for lunch. That doesn’t sound ................ very interesting
lunch.

(A) a (B) an

(C) the . (D) none of these

Where is Tanu ?

T ucsscassuiossains him today, but he told Maya that he’d be in for dinner.
(A) did not see (B) have not seen

(C) had not seen (D) none of these

She won’t open the door unless she ................... who it is.

(A) know (B) shall know

(C) will know (D) knows
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86.

87.

88.

89.

foo oY FEfem @ 4 fedt IW Rem # SR wed B W% TH qT I E A
it feem 2 ol wed B A" QAW o g WA ¥ R T 9@ fen | 6 fel
Jor © 3R TE g W € iR 3 fewn # 2 fF. e & 9’ <@ q® W ¥
IR o d 2 Tt 9w %) 9w o yeemt fag ¥ et g W ¥ 2

(A) 0 fot (B) 6 fersit

(C) 12 feit (D) 16 foHt

We had fish and chips for lgnp'h. That doesn’t sound ................ very interesting
lunch.

(A) a (B) an

(C) the (D) none of these

Where is Tanu ?

¥ onitnsnasiabenizas him today, but he told Maya that he’d be in for dinner.
(A) did not see (B) have not seen

(C) had not seen (D) none of these

She won’t open the door unless she ................... who it is.

(A) know (B) shall know

(C) will know (D) knows

D.O—A 41 P.T.O:



90.

91.

92.

93.

94.

If T had realized that the traffic lights were red I ..................

(A) would stop (B) could stop
(C) might stopped (D) would have stopped
I keep .ccoovvvvinnnnenns mayonnaise but I never succeed.

Try adding the yolk of a hard-boiled egg.

(A) trying making (B) try making

(C) trying to make (D) none of these

If only we ....cccccuuene a light ! It is depressing waiting in darkness !
(A) had | (B) have

(C) should have (D) ought to have

I couldn’t take ...........cooc... the lecture at all. It was too difficult for me.
(A) at (B) in

(C) after (D) none of these

He is not really angry. He’s only putting it .........ccceceeee.

(A) of (B) about

(C) out (D) on

D.O—A 42



91.

i 92.

93.

94.

If I had realized that the traffic lights were red I ................. #

(A) would stop (B) could stop

(C) might stopped (D) would have stopped
7 —— mayonnaise but I never succeed.

Try adding the yolk of a hard-boiled egg.

(A) trying making (B) try making

(C) trying to make (D) none of these

If only we .....ccccueeeeee. a light ! It is depressing waiting in darkness !
(A) had (B) have

(C) should have (D) ought to have

I couldn’t take ......ccc..c...... the lecture at all. It was too difficult for me.
(A) at (B) in

(C) after (D) none of these

He is not really angry. He’s only putting it ...............c......

(A) of (B) about

(C) out (D) on
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95.

96.

a7.

‘My shoes wear ................... very quickly since I started walking to the
office.

(A) off (B) out

(C) on | (D) none of these

By virtue of Section 1(3) of The National Food Security Act, 2013, the Act

is deemed to have come into force from :
(A) 10th September, 2013 (B) 12th September, 2013
(C) 5th July, 2013 (D) 5th June, 2013

For the purposes of issuing ration cards (as defined in Section 2(16) of
the National Food Secﬁrity Act, 2013) who would be the head of the

household ?

(A) Eldest male member (major) of the household. If no major male member

then eldest female member of the household

(B) Eldest female member (major) of the household. If no major female member

then eldest male member of the household
(C) Eldest member of the household irrespective of the sex of the person

(D) The household can choose its head on its own

D.O—A 44



95.

96.

97.

My shoes wear ................... very quickly since I started walking to the

office.
(A) off (B) out

(C) on (D) none of these

T T e sfufrem, 2018 #91 uw 1(3) & R I fuftaw w9 @ ang

HAET ST@ ?
A) 10 faamr, 2013 (B) 12 faawr, 2013
(C) 5 e, 2013 (D) 5 M, 2013

WA e (S R T e wen afufy, 2013 = uw 216) § wffia ®)
& frfm & fol, ool =1 gfew 9 @ 2

(A) & w1 U EY (F9E) S| AT 9% 7 @ A R @ WU wi

e

(B) Te¥dl ® WURQ B () W AR FE A A @ et w1 A w9

qeHd
(C) Xt & U §e& (T a1 V)

D) TR % G WI 9 qfed 9 HEd ©

D.O—A 45 P.T0;



98.

99.

100.

In which case has Supreme Court held that the right to food is a fundamental

right ?

(A) People’s Union for Civil Liberties Vs. Union of India 2001
(B) Association for Democratic Reforms Vs. Union of India 2000
(C) Food Corporation of India Vs. A. Prahalada Rao 2000

(D) None of the above

}
Households covered under Antyodaya Anna Yojana shall be entitled to how
many kilograms of food grain per household per month at prices specified

in 1st Schedule :

(A) 5 kg (B) 35 kg

(C) 15 kg (D) 20 kg

State Food Commission shall consist of :

(A) Chairman & 2 other members and a member secretary
(B) Chairman & 3 other members

(C) Chairman & 5 other members and a member secretary

(D) Chairman & 1 other member
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98. wdtew = & frg fofg § @@ # difes sfuser =ifew fmn ™ & 2
(A) Hftew gfga wR fafsa faedis (PUCL) Vs. 3fem éqqu?%m2oo1
(B) udifguyH wR eHmkfew frwnd Vs, gfem @ite gfean 2000
(C) s HURYA % 3fea Vs. T wgee T 2000
(D) 39d=a § A F3 &

99. sy 37 AN § Sidd o g usfeEl = ufa me feaw feen @, wsedt

sgEt g fafde #mal | wer fwa smom 2

A) 5 el (B) 35 fawa

(C) 15 feel (D) 20 fwel
100. ﬁ@mmwmﬁﬁﬁaﬁmm%?

(A) TH 3%, T 39 G @ T W wied

(B) T&H H=AF TH o 7T T&H

(C) T& 314y, Ui 31 9™ W@ U W™ 9=

(D) TH 3y Ud UH 3 WSS
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